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CBT Sample assessment model answers

Advanced Bookkeeping (AVBK)

Sample assessment 2
Task 1  (21 marks)
[image: image2.png]ption Acau Funding
Serial number date method

Plant and machinery

Printer PH101 ooxs | 280000 Cash

Vear end 31103%5 35000 265000

Vear end 311036 35000 210000

Year end 31103X7 00 n“ o n 175000 | 31076

Frterand stana SP4200 n S Fire purchase n

Vear end 311037 6025 | 485275

Hotor vehicles

VanBT04 THU 2009 | o444 Loan

Year end 311035 236016 | 708048

Vear end 311036 oz | 53103

Vear end 311037 12780 | ass2rr

Van TWOB KU 30t | 872000 Hire purchase

Vear end 311036 218000 | 6540.00

Vear end 311037 163500 | 490500





Task 1 (continued)

[image: image3.png](b) Which ONE of the following best describes the residual value of a non-current assef

(3 marks)

Expected market value atthe estimated date of ts disposal.

Difference between its camying amount and the estimated scrap proceeds.

Original cost less its depreciation to date.

Carrying amount plus its accumulated depreciation at any given ime.





Task 2  (17 marks)
[image: image4.png](a) Complete the following tasks relating to the original equipment:

@ Calculate the accumulated depreciation.

¢ [2000

(i) Complete the disposals account. Show clearly the balance to be carried down or transferred to the.

‘statement of profit or loss, as appropriate.

Disposals

[Equipment at cost

4500

|Equipment accumulated depreciation

3000)

[Eauipment at cost

850)

[Proft or loss account

650)

vilvivi[v]|

AT&I AT A]

v

4500

4500|

7y

9 marks)




Task 2 (continued)

[image: image5.png](b) Complete the tasks below:

(i) Calculate the purchase cost of the new equipment from the information above.

¢ [6030

(5 marks)

Before the part-exchange eniries were posted, the balance on the equipment at cost account was £19,380.

The entries have now been correctly made.

(i) Complete the sentence:

The equipment at cost account will have a final balance carried down of £ [20910

ledger accounts are closed forthe year.

whenthe





[image: image6.png]() Complete the journal below.

Amount pepit  Credit

[Depreciation charges

i [Fixtures and fitings accumulated depreciation

[Narrative:

[Depreciation charges for the year ended 31 March 20X7 for fitures and fiings purchased
130 March 20x7.





Task 3  (19 marks)
[image: image7.png](a) Update the rental income account. Show clearly:
+ the cash book figure
« the year end adjustment
* the transfer to the statement of profit or loss for the year.

Rental income

[Prepaid income 2720 [Prepaid income (reversal)

2430]

[Proft or loss account 25260 [Bank

vilviivl

V&I

27980

>

27980)

7y

6 marks)




Task 3 (continued)
[image: image8.png](b) Answer the following regarding the prepaid income reversal of £2,430 in the rental income account
above. (4 marks)

(i) How were the elements of the accounting equation affected by this transaction?
“Tick ONE box for each row.

Assets

Liabiliies

Capital

(i) Which ONE of the following dates should be entered for this transaction in the ledger account?

31 March 20X6

1 April 20X6

1 April 20X7





Task 3 (continued)
[image: image9.png](c) Complete the following statement: (4 marks)

The administration expenses account needs an adjustment for

T v K e ) SIEEA |

(d) Taking into account all the information you have, calculate the administration expenses for the year
‘ended 31 March 20X7. 3 marks)

e [1e260





Task 3 (continued)
[image: image10.png](e) Show how each of the following account balances will appear in an initial tral balance.

Make each selection by clicking on a box in the left column and then on one in the right column.
You can remove a line by clicking on t.
Account balance Trial balance
Accrued expenses
Administration expenses Credit
Interest received et
Payrollliabilfes

2 marks}





Task 4  (23 marks)
[image: image11.png](a) A refund of £398 for electricity costs was correctly entered into the bank account.
No other entries were made. (3 marks)

Journal

[Suspense 308

[Electricity costs ER

(b) Machinery repairs costing £470 were paid for using the business bank debit card. The correct amount
‘was credited to the bank account and debited to the machinery at cost account. (3marks)

Journal

[Repairs and maintenance 470

[Machinery at cost 470)





Task 4 (continued)
[image: image12.png](c) Entries for prepaid equipment hire costs of £460 were made. These were on the correct sides of both
relevant general ledger accounts but a figure of £640 was used. 6 marks)

Journal

[Equipment hire costs 540
[Frepaid expenses 540)
[Frepaid expenses %0

[Equipmentfire costs 0]

(d) No entries have been made for interest due to be paid on a loan of £5,000. Annual interest of 2.8%
needs to be accounted for. 6 marks)

Journal

|Loan interest - statement of profit or loss 140

[[oan interest payable - statement of financial position 140





Task 4 (continued)
[image: image13.png]Now that you have posted the joumals, you are pleased o see thatthe suspense accountis clear andthe.
trial balance totals agree.

(e) Complete the following sentences : (2 marks)

[reannot Rl conclude that the balances included are now free from all errors.

[reannot Rl conclude that an inventory valuation s at 31 March 20X is included in the fral balance.

You are working as an accounting technician on year end accounts. The following are situations where you
may have to record adjustments.

() Which ONE of these would be acceptable professional behaviour if actioned by you? (3 marks)

A dlient wants to improve his profit figure.
He asks you to bring forward the date of a large sales invoice into the currentyear.

Your firm needs to meet ts deadiine for preparing the final accounts. Your supenvisor
tells you to save time by using net realisable value for all items in the inventory valuation.

Adlients sales manager wants you to accrue for a bonus based on the current year sales.
The bank statement shows that the bonus was paid in the next financial year.

One of the client’s credit customers is going out of business. You feel this news can be.
disregarded as the effective date of the business closure s after the year end date.





Task 5  (20 marks)
[image: image14.png](@) Use the following table to show the THREE items that should appear on the cash book side of the
reconciliation. Enter only ONE figure for each line. Do not enter zeros in unused cells. (6 marks)

tem 1 63|
tema 256
jtems 1500]

(b) As an accounting technician, why is it important to follow organisational policies and procedures?

Choose ONE:

To eliminate the possibilty of numerical errors.

(3 marks)

To gain authority to access records necessary for your day to day work.

To help enable both individual and team responsibilies to be understood.

To add to your technical knowledge as part of your continuing professional development





Task 5 (continued)
[image: image15.png]() Extend the figures into the statement of profitor loss and statement of financial position columns.
Do NOT enter zeros into unused column cells.
Complete the extended trial balance by entering figures and a label in the correct places. (11 marks)




[image: image16.png]Extended trial balance

‘Allowance for doubtiul debls 1500 1500[4

Bank 5725) 2415) 3310 4]
Capital 19070 0430| 28500[4]
Closing inventory 751017510 7510] 17510 4]
Depreciation charges 5045| 5946 [«
Imecoverable debls 90| 490 4]
Office expenses 33222 1320 34542 4]
Opening inventory 16760 16760 4]
Other payables 1460 1320 2780[4]
Payroll costs 28381 28381 4]
Purchases 177363 177363] 4]
Purchases ledger control account 19402] 35| 19897«
Sales 268077 268077 4]
Sales ledger control account 38934] 38934 4]
‘Suspense 5| ass| a0 4]
VAT 5225|2416 2809[4]
Vehicles at cost 22280) 0430| 31710 4]
Vehicles accumulated depreciation 13873] 13873«
Proft/loss for the year v | 22108 22105[4]
TOTAL T28612| 328612| 31661]  31661| 285587 285587| 91464| o14cd|
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